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Instructions to candiclates:
1) All questions are compulsory.
2l Figures to the right indicate full marks.3i Use oi scientific calculator is allowed.4l Assume suitable data where ever required.

[Max. Marks: 2O]

Attempt any one
Explain in brief, the rore of 4 organizational charts (other than tOglPAC, IPO, st.ucture) in problem 

"olrrirg. Draw pAC, Interactivityand IPO Charts for the follor,ving probleml
Joe Traders has a_ set poricy for accepting a company as theirclient. To become their ciient, a company should satisfy at least 1of the criteria mentioned berow. set Lp 

" *rrrg1" rogicai expressionfor checking eiigibility of a company to become client of JoeTraders.
criterial - If companies'yearly turnover is above 30 croresCriteria2 - If company has ,,Gold,, ,"ti;; 

-fror, 
Chamber ofCommerce

criteria3 - If yearly turnover is ress than 30 crores, then, its firstorder is at ieast for 200 dozenitems

solve the fcllowing using appropriate variable names, operator I0g]hierarcl:y anci diagia*u,r,ir".. lpplicab le.n Explain v.,ilh diagram fr"w ttre expression ,, B _ C <= D*3-A.lrL\ lJ,/:l'> G " i::; r;.,-ii1a,=r.:ci. Ei,te*t.lle tne above lor ,,=llC=5, D=2, E=10, F=5, G=! 
lvl u-Lt,

o write an equation for finding what percentage is house rentof monthly allowance of a student.o Correct the R.H.S. of the equation: 7 MOD 2l = Oo Write a short note on UML Diagrams.

Attempt any cne
a List tire co_rnmon tyDerr of modules for. solving a problem? i,g]lJame trre logic structrrrcs *sed .,.rrhen designing a module.How are the opposing conceprs of cohesion and couplingrelated to designing rnod,_rles,:r Draw the flowchart, with ccrrect symbols, for a solution totell the user whether a string is a pllinclrome. (A palindromestring spells the.same in both fo^,vard o. n""r.*ard direction,e.g. racecar, level, madam, etc.
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b) While arra4ging logistics for a training workshop, Harry wants to
buy "folders" to distribute to participants. Total number of folders
required is equal to the number of participants, plus an additional
5 folders.
The rate for 1 folder when bought as a single unit is Rs 40. The rate
for 1 folder rvhen bought in bulk (wholesale) is l.ess.
The rvhoiesaie rate of 1 folder when bought in multiples of 100 is
Rs 35.
The wholesale rate of 1 folder u,hen bought in multiples of 500 is
Rs 32.
Draw a PAC for the problem of buying best package, for least
amount of money, for the given number of participants. Also write
an algorithm, flowchart and pseudo code, using correct symbols.

a) Write a'C'pi'ogram snippet to print the pattern below:
It[ is an even number, accepted fi'om user.
L 21 22 23 24.......2N-2 2N-1 2r! E.g. If Ii=6, pattern is:

21 22 23 24........2N-2 2N-1 1 2 4 g 16 32 64
22 23 24.......2N-2 2 4 g 76 32

4816
2t't/z 8

b) Given the following C++ snippet, fill in the 3 blanks such that code
prints the following output. \Mhat is this code an example of, in
terrns of OOP Concept?
class Sa:nnle
{

public:
void funct(int x)
I
l.

cout << rrx= rr << x << endl;
]
void funct(double x)
fI

cout << rrx= rr << x << endl;
i
t
-,oirl fr;nct(int z, int y)
I
1

-----------...-.---;
l.), ..
int mainfl {

Sample objectl;
.-.---..-------;

.,
objectl.funct(133,65) ;
return O;

| /t/t///il//t/t//t//t
X= 100
x= 120.56
X and Y are 133, 65
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